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30100 722 A 20 972 54 54 43 BN 20K
31100 |F13¢ 50 2,916 648 540, 540/ BN 54 —=%
31200 JUHE 3 972 65 65 65 BN 15
31700 | % ¢~ 104 03,910 4320 216 216 BN 1447 —A
31800 1E 9 ALABE 26 9, 569 86 76 65 BN 1293
31900 f X 324 216 216 216 BN 2kg

34200 ML 1 8 799 140 108 32 &N 10f#
34200 MM | 22 4, 082 194 178 178 5P 22kg
34500 | E—v 1 1 261 238 238 238! BN lkg
35220 | X M XRBHT T R 1,782 1,188 1,188 1,188 BN %kg
35300 | b— % 1 1,814 1,296 1,296 1,296 BN lkg

35303 R TEIAED 9 4, 628 594 486 4321 BN 9kg
35400 ZHEH 3 459 162 162 108 B 3kg

Y3033 AL B A, 172 27,065 173 173 32 BN |172kg
36200 FGEhE 20 2,592 130 130 130 BN 20kg
36501 < R 3 356 119 119 119 BN 3kg

33300 Tyl — 2 529 76 76 76 BN 711

Y3017 EtY 1 864 864 864 864 fh/N 1kg

Y3030 AL () 3 5,184 1,728 1,728 1,728 E/N 3kg

36320 &L 10 1, 080 108 108 108 B 10kg
41390 EAMA 80 13,403 432 238 238 B MEA
39320 75N EW 11 3,913 38 38 24 BN 111{#
46108 | SAIEOMNEE 15 28,912 594 594 508 BN 5178y 7
71011 A7 L—%j B 75, 845 50 44 39 BN 1, 404
71030 | Kot 1 3,938 50 44 11BN 100K
71032 | K7€) () 2,860 39 33 33 BN 85K
71286 | Za—AHL 10, 120 88 66 66 BN 1404
53456 | =77l 1,015 270 270 238 BN 4kg

53101 IELAMR B 2,160 1,080 1,080 1,080 BN 2kg

30100 [ 7ZVZ A L 20 1,188 59 59 59 FEVLE 204
30300 AZ L 100 12,852 1,620 1,080 1,080 Fiff 0 —=2
31100 |[3 M 105 2, 376 432 324 324 BEIR B Th— 2
33810 A3 4 1, 404 1,404 1,404 1,404 JFEVLE 1 —A
33810 %ﬁ% L 4 L5120 760 76 76 ENRE  208%
37440 b 2| - 896 896 896 896 BEWE 17 —A
Y5005 |4 kFEA 5 1, 566 1, 566 1, 566 1, 566| K4y 17— A
31700 | ¥ Y 250 5,972 324 238 216 f I8 B 254 — A
31800 E 9 ALAKE 4 2,592 2,592 2,592 2,592 Ei 1r—=
31950 HAAX 2 L 27 11, 556 1,404 1,188 1, 188 FEML 94— A
31900 Ha¥X M 5 3,078, 378 270, 270 fERE  10%((500g)
32800 42 B | 3 2,376 86 16 76 M Sy
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34300 724 30 8,154 1,404 1,404 1,296 fEA 64—
34300 7Ze 4 2L 5 2, 268 2, 268 2, 268 2,268 HEAK 17—
34300 Aed M ‘ 5! ©1,296) 1,296 1,296 1,296 FEVE R 17—
34400 R b 44 14,256 1,404 1,404 1,080 fiEA 114 — %
34460 (I=LE L S 6 1,620 864 864 756 HEA 24 —=%
34100 BT - 65 16,686 1,512 1,350 1,080 FEWE, 134 —=%
34100 I L 30 8, 424 1,404 1,404 1,404 HEVLE 64— A
34500 bB—~ M 6 2,333 39 39 39 REVL 60%%
34571 AT U B () 1 4,050 162 162, 162 #[H 25{H
36200 MshE 3L 20 3,456 1,728 1,728 1,728 Rl 24— A
36210 | A—2 A2 (%) 2L 20 4,104 2,052 2,052 2,052 FMg 2 — 2
36600 -E¥hE Lk 60 74520 2,484 2,484 2,484 dLifEE 34 —=%
33410 H=—1L & % L 891 32 32 27 #& it 3011
33420 ZY—2Y—TL &R L 6 324 1 1 11 il 301#
33600 Y 2] 2,700 378 378 2710 fEB 8H¥
33200 HY T 50— 3] 972 162 162 162 BEVLES 6
33300 Ty al— L 7 2,851 119 119 119 BEVE 24
31310 (A3 4 864 43 43 43| i ] 204%
31500 /MadE 4 1,728 1,728 1,728 1,728 R 17— R
31500 /A% L 8 2, 160 54 54 54 REVL I 40%%
37560 HBIT 1 4,212 4320 432 3181KS 105w/
36400 |Z2/3E B 4L 0 3,120 3,132 3,132] 3,132 H&E @ 14—x%
38400 |z O X1 6 2, 268 38 38 38 e 6048
38521 | S7p Lo UH 7 3 3,402 113 113 113 f ] 304%
10100 770/ 3L 100 8,748 1,080 864 756 A 104 — %
40100 | B A S 20 11,232 5,616 5616 5616 fEIRE 24 —x
41410 fLEL . 15 10,260, 10,260 10,260 10,260 U 14— %
41480 | L 500 25 9,720 1,944 1,944 1,944 fEAK 54—
Y4017 45U 20 4,752) 2,376 2,376 2,376 Hik 2k — 2
43702 B X ) N 10 3,240 3,240 3,240 3,240 BhE 1 —%
45000 HEH B 4 3,931 281 281 2817 AU Sy s
49300 F 7 ¢ T — 35S 100 8, 640 432 432 432 48 20 —A
&t 1L752 419,818 | | |




